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Options :
1
v 2 fora=w
3 6
4 T
- Choose the alternative for the following: she was strong and emotional. (use 'not only-
but also')
Options :
1 She was not only strong, emotional but also.
2 She not only was strong but also emotional.
8 not only she was strong but also emotional.
v 4 She was not only strong but also emotional.
[ "l met him on Sunday." She said. Change this sentence into indirect form.
Options :
1 She said that he has met her on Sunday.
2 He said that she had met him on Sunday.
v 3 She said that she had met him on Sunday.
4 She asked that when she had met her him on Sunday.
[ Choose the word that does not end with the suffix 'tion.’
Options :
1 Competition
2 Relation
v 3 Nation
4 Preparation
- Combine the following two sentence into one by using 'though'. a) It is raining heavily. b)
| shall reach there in time.
Options :
1 It is raining heavily though | shall reach there in time.
2 It is raining heavily | shall though reach there in time.
v 3 Though it is raining heavily, | shall reach there in time.
4 It is raining though to see you. | was not well.
[ Choose the correct synonym of the word: Omnipotent
Options :
1 all knowing
2 ever lasting
v’ 3 all powerful
4 merciful



N What prefix will you add to make the opposite of the word 'Healthy'?

Options :
1 In
2 Em
(T4 3 Un
4 Dis
[ Choose the correct figure of speech in sentence : The camel is the ship of the desert.
Options :
v 1 Metaphor
2 Simile
3 Metonymy
4 Hyperbole
[ Choose the correct alternative. He tried hard but....
Options :
1 he has not succeed.
v 2 he did not succeed.
8 he was not succeeding.
4 he was not been succeeding.
I_ He said, "You must be silent." (Change into indirect narration.)
Options :
1 He said that they must be silent.
v 2 He said that we must be silent.
3 He said that they may be silent.
4 He said that you must be silent.
N There is no smoke without fire. (Make it affirmative)
Options :
v 1 Where there is smoke, there is fire.
2 When there was smoke, there is fire.
3 There is not fire without smoke.
4 Smoke and fire both are same.
I_ Which of the following word is different from others?
Options :
1 Artist
2 Purify
3 Active
v 4 Untrue

I_ My bother....in Military since 2002.
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Choos the correct alternative " ---------=---==-=---- a party next Sunday. | hope you can

come."

We have

We are having
We will have
We had

Choos the correct alternative " Do you know about Sally? ---------- her job

last week."

She leaves
She is going to leave
She will leave

Sh had leave

Complete the sentences ' | got up early and ------------=------- a shower'

has
had
have

having

Complete the sentences ' | ------------- this pen on the floor. Is it yours?'

find
found
finding
founded

Complete the sentences ' Raju was tired last night, so he

. She told me

to bed

early'

gon
goes
went
go

Complete the sentences 'Are you hungry?' ' No, but ------------- thirsty'

| had
| will

| are
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| am

Complete the sentences ' ---------------- your parents? ' ' They are very well'

How is
is how
How
How are
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